TITLE: Re-Construction and Widening of East Side Potter Valley Road, CR 240, Mile Post 5.58 to 6.58

CONTRACT NO.:

DATE: 5/19/2021

SHEET 1 OF 1 200055

DISTRICT:

1 MENDOCINO

COUNTY:

ROUTE:

240

ADVERTISE DATE: APRIL 20, 2021 PREPARED BY: William Wood 2

BID OPENING DATE: MAY 18, 2021

DATE: 5/18/2021

CHECKED BY: Jannaliese Blundell

BASE BID, East Side Potter Valley Road, County Road 240, Mile Post 5.58 to 6.37, Potter Valley

|             |           | BASE BID, East Sid                           | 1            |                    | Ghilotti Con<br>Santa Ro<br>NO | st. Co, Inc.<br>osa, CA | ENGINEERS     |                | Granite Const. Co.<br>Ukiah, CA<br>NO. 2 |              |
|-------------|-----------|--|--------------|--------------------|--------------------------------|-------------------------|---------------|----------------|--|--------------|
| ITEM<br>NO. | CODE CODE | ITEM DESCRIPTION                             | UNIT<br>CODE | ESTIMATED QUANTITY | UNIT PRICE                     | AMOUNT                  | UNIT<br>PRICE | AMOUNT         | UNIT<br>PRICE                            | AMOUNT       |
| 1           | 999990    | MOBILIZATION                                 | LS           | 1                  | \$308,000.00                   | \$308,000.00            | \$200,000.00  | \$200,000.00   | \$251,500.00                             | \$251,500.00 |
| . 2         | 100100    | DEVELOP WATER SUPPLY                         | LS           | 1                  | \$4,800.00                     | \$4,800.00              | \$16,667.00   | \$16,667.00    | \$38,000.00                              | \$38,000.00  |
| 3           | 120090    | CONSTRUCTION AREA SIGNS                      | LS           | 1                  | \$1,500.00                     | \$1,500.00              | \$146,300.00  | \$146,300.00   | \$10,000.00                              | \$10,000.00  |
| 4           | 120100    | TRAFFIC CONTROL SYSTEM                       | LS           | 1                  | \$218,000.00                   | \$218,000.00            | \$233,000.00  | \$233,000.00   | \$213,000.00                             | \$213,000.00 |
| 5           | 130200    | PREPARE WATER POLLUTION CONTROL PROGRAM      | LS           | 1                  | \$10,000.00                    | \$10,000.00             | \$2,600.00    | \$2,600.00     | \$25,000.00                              | \$25,000.00  |
| 6           | 170103    | CLEARING AND GRUBBING                        | LS           | _ 1                | \$36,000.00                    | \$36,000.00             | \$33,000.00   | \$33,000.00    | \$95,000.00                              | \$95,000.00  |
| 7           | 390132    | HOT MIX ASPHALT, (TYPE A)                    | TON          | 4,400              | \$140.00                       | \$616,000.00            | \$177.00      | \$778,800.00   | \$147.00                                 | \$646,800.00 |
| 8           | 394073    | PLACE HOT MIX ASPHALT DIKE (TYPE A)          | LF           | 2,750              | \$2.50                         | \$6,875.00              | \$2.20        | \$6,050.00     | \$3.00                                   | \$8,250.00   |
| 9           | 397005    | TACK COAT (0.08 -0.15 gal/sqyd)              | TON          | 11                 | \$1,100.00                     | \$12,100.00             | \$1,500.00    | \$16,500.00    | \$660.00                                 | \$7,260.00   |
| 10          | 260203    | AGGREGATE BASE, CLASS 2                      | CY           | 9,000              | \$60.00                        | \$540,000.00            | \$101.00      | \$909,000.00   | \$65.00                                  | \$585,000.00 |
| 11          | 846051    | 12" RUMBLE STRIP (ASPHALT CONCRETE PAVEMENT) | STA          | 43                 | \$200.00                       | \$8,600.00              | \$80.00       | \$3,440.00     | \$155.00                                 | \$6,665.00   |
| 12          | 840656    | PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)    | LF           | 4,300              | \$0.70                         | \$3,010.00              | \$0.60        | \$2,580.00     | \$0.70                                   | \$3,010.00   |
| 13          | 840656    | PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)     | LF           | 8,600              | \$0.35                         | \$3,010.00              | \$0.60        | \$5,160.00     | \$0.35                                   | \$3,010.00   |
| 14(F)       | 192037    | STRUCTURAL EXCAVATION (RETAINING WALL)       | CY           | 1,958              | \$50.00                        | \$97,900.00             | \$80.00       | \$156,640.00   | \$89.00                                  | \$174,262.00 |
| 15          | 520103    | BAR REINFORCING STEEL (RETAINING WALL)       | LB           | 72,990             | \$1.84                         | \$134,301.60            | \$4.00        | \$291,960.00   | \$1.84                                   | \$134,301.60 |
| 16(F)       | 510060    | STRUCTURAL CONCRETE (RETAINING WALL)         | CY           | 534                | \$1,100.00                     | \$587,400.00            | \$862.00      | \$460,308.00   | \$1,100.00                               | \$587,400.00 |
| 17(F)       | 193013    | STRUCTURAL BACKFILL (RETAINING WALL)         | CY           | 1,510              | \$120.00                       | \$181,200.00            | \$117.00      | \$176,670.00   | \$70.00                                  | \$105,700.00 |
| 18          | 839736    | CONCRETE BARRIER (TYPE 742A)                 | LF           | 402                | \$275.00                       | \$110,550.00            | \$200.00      | \$80,400.00    | \$215.00                                 | \$86,430.00  |
| 19(F)       | 510092    | STRUCTURAL CONCRETE (HEAD WALL)              | CY           | 58                 | \$2,400.00                     | \$139,200.00            | \$4,100.00    | \$237,800.00   | \$3,000.00                               | \$174,000.00 |
| 20          | 520101    | BAR REINFORCING STEEL (HEAD WALL)            | LB           | 6,000              | \$2.07                         | \$12,420.00             | \$2.50        | \$15,000.00    | \$2.07                                   | \$12,420.00  |
| 21          | 803020    | REMOVE FENCE                                 | LF           | 5,665              | \$3.00                         | \$16,995.00             | \$6.00        | \$33,990.00    | \$4.00                                   | \$22,660.00  |
| 22          | 803100    | RECONSTRUCT FENCE                            | LF           | 5,665              | \$33.00                        | \$186,945.00            | \$46.00       | \$260,590.00   | \$20.00                                  | \$113,300.00 |
| 23          | 710130    | REMOVE CULVERT                               | . EA         | 12                 | \$1,500.00                     | \$18,000.00             | \$2,840.00    | \$34,080.00    | \$3,200.00                               | \$38,400.00  |
| 24          | 610108    | INSTALL 18" HDPE PIPE CULVERT                | LF           | 446                | \$115.00                       | \$51,290.00             | \$187.00      | \$83,402.00    | \$68.00                                  | \$30,328.00  |
| 25          | 610112    | INSTALL 24" HDPE PIPE CULVERT                | LF           | 142                | \$175.00                       | \$24,850.00             | \$554.00      | \$78,668.00    | \$215.00                                 | \$30,530.00  |
| 26          | 610125    | INSTALL 42" HDPE PIPE CULVERT                | LF           | 121                | \$425.00                       | \$51,425.00             | \$604.00      | \$73,084.00    | \$480.00                                 | \$58,080.00  |
| 27          | 610128    | INSTALL 48" HDPE PIPE CULVERT                | LF           | 52                 | \$825.00                       | \$42,900.00             | \$372.00      | \$19,344.00    | \$1,040.00                               | \$54,080.00  |
| 28          | 782120    | RELOCATE MAIL BOXES                          | EA           | 13                 | \$500.00                       | \$6,500.00              | \$443.00      | \$5,759.00     | \$950.00                                 | \$12,350.00  |
| 29          | 190101    | ROADWAY EXCAVATION                           | CY           | 27,687             | \$25.00                        | \$692,175.00            | \$50.00       | \$1,384,350.00 | \$19.00                                  | \$526,053.00 |
| 30          | 730045    | MINOR CONCRETE GUTTER (VALLEY GUTTER)        | CY           | 35                 | \$800.00                       | \$28,000.00             | \$850.00      | \$29,750.00    | \$1,075.00                               | \$37,625.00  |
| 31          | 520101    | BAR REINFORCING STEEL (VALLEY GUTTER)        | LB           | 1,974              | \$1.64                         | \$3,237.36              | \$3.00        | \$5,922.00     | \$2.16                                   | \$4,263.84   |
| 32          | 210430    | HYDROSEED                                    | SQFT         | 69,700             | \$0.18                         | \$12,546.00             | \$0.35        | \$24,395.00    | \$0.30                                   | \$20,910.00  |
| 33          | 211111    | PERMANENT EROSION CONTROL ESTABLISHMENT WORK | LS           | 1                  | \$10,000.00                    | \$10,000.00             | \$100,000.00  | \$100,000.00   | \$1,500.00                               | \$1,500.00   |
| 34          | 810230    | PAVEMENT MARKER (RETROREFLECTIVE) (TYPE D)   | EA           | 360                | \$5.00                         | \$1,800.00              | \$6.00        | \$2,160.00     | \$5.00                                   | \$1,800.00   |
| 35          | 810230    | PAVEMENT MARKER (RETROREFLECTIVE) (TYPE H)   | EA           | 36                 | \$5.00                         | \$180.00                | \$6.00        | \$216.00       | \$5.00                                   | \$180.00     |

|      | ·              |   |           |              |                  |                  |                    | iı               |               |              |
|------|----------------|---|-----------|--------------|------------------|------------------|--------------------|------------------|---------------|--------------|
| 36   |                | PROPERTY OWNERS IMPROVEMENTS                  | LS        | 1            | \$25,000.00      | \$25,000.00      | \$2,000.00         | \$2,000.00       | \$125,000.00  | \$125,000.00 |
| 37   | 600029         | REMOVE ASPHALT CONCRETE SURFACING             | SQFT      | 30,518       | \$0.60           | \$18,310.80      | \$6.17             | \$188,296.06     | \$0.30        | \$9,155.40   |
| İ    | ☆ =            | CORRECTED AMOUNT                              |           | TOTAL:       | _                | \$4,221,020.76   | _                  | \$6,097,881.06   | \$4,253,223.8 |              |
|      |                |   |           | DBE GOAL:    |                  | 0.00%            |                    | 0.00%            |               | 0.00%        |
| ,    |                | BID ADD 1, East Sic                           | le Potter | Valley Road, | County Road 240, | Mile Post 6.37 t | o 6.58, Potter Val | lley             |               |              |
|      |                |   |           |              | Ghilotti Con     | st. Co, Inc.     |                    |                  | Granite C     | onst. Co.    |
|      |                |   |           |              | Santa Ro         | osa, CA          | <b>ENGINEERS</b>   | ESTIMATE         | Ukiah         | , CA         |
|      |                |   |           |              | NO               | . 1              |                    |                  | NO            | . 2          |
| ITEM | ITEM           |   | UNIT      | ESTIMATED    | UNIT             |                  | UNIT               |                  | UNIT          |              |
| NO.  | CODE           | ITEM DESCRIPTION                              | CODE      | QUANTITY     | PRICE            | AMOUNT           | PRICE              | AMOUNT           | PRICE         | AMOUNT       |
| 1    | 170103         | CLEARING AND GRUBBING                         | LS        | 1            | \$1,500.00       | \$1,500.00       | \$6,000.00         | \$6,000.00       | \$23,800.00   | \$23,800.00  |
| 2    | 390132         | HOT MIX ASPHALT, (TYPE A) 3" OVERLAY          | TON       | 676          | \$185.00         | \$125,060.00     | \$177.00           | \$119,652.00     | \$190.00      | \$128,440.00 |
| 3    | 397005         | TACK COAT (0.08 -0.15 gal/sqyd)               | TON       | 2            | \$1,785.00       | \$3,570.00       | \$1,500.00         | \$3,000.00       | \$660.00      | \$1,320.00   |
| 4    | 846051         | 12" RUMBLE STRIP (ASPHALT CONCRETE PAVEMENT)  | STA       | 10           | \$85.00          | \$850.00         | \$80.00            | \$800.00         | \$155.00      | \$1,550.00   |
| 5    | 840656         | PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)     | LF        | 1,004        | \$0.70           | \$702.80         | \$0.60             | \$602.40         | \$0.70        | \$702.80     |
| 6    | 840656         | PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)      | LF        | 2,008        | \$0.35           | \$702.80         | \$0.60             | \$1,204.80       | \$0.35        | \$702.80     |
| 7    | 840666         | PAINT PAVEMENT MARKINGS (2 COATS)             | SQFT      | 75           | \$22.00          | \$1,650.00       | \$26.00            | \$1,950.00       | \$22.00       | \$1,650.00   |
| 8    | 810230         | PAVEMENT MARKER (RETROREFLECTIVE) (TYPE D)    | EA        | 21           | \$5.00           | \$105.00         | \$6.00             | \$126.00         | \$5.00        | \$105.00     |
| 9    | 192001         | STRUCTURAL EXCAVATION (PIPE EXTENSION)        | CY        | 142          | \$100.00         | \$14,200.00      | \$80.00            | \$11,360.00      | \$40.00       | \$5,680.00   |
| 10   | 520101         | BAR REINFORCING STEEL (PIPE EXTENSION COLLAR) | LB        | 400          | \$5.00           | \$2,000.00       | \$4.00             | \$1,600.00       | \$2.95        | \$1,180.00   |
| 11   | 510050         | STRUCTURAL CONCRETE (PIPE EXTENSION COLLAR)   | CY        | 2            | \$6,200.00       | \$12,400.00      | \$862.00           | \$1,724.00       | \$3,500.00    | \$7,000.00   |
| 12   | 193001         | STRUCTURAL BACKFILL (PIPE EXTENSION)          | CY        | 166          | \$230.00         | \$38,180.00      | \$117.00           | \$19,422.00      | \$125.00      | \$20,750.00  |
| 13   | 510092         | STRUCTURAL CONCRETE (HEAD WALL)               | CY        | 19           | \$3,425.00       | \$65,075.00      | \$4,100.00         | \$77,900.00      | \$3,500.00    | \$66,500.00  |
| 14   | 520101         | BAR REINFORCING STEEL (HEAD WALL)             | LB        | 1,777        | \$2.00           | \$3,554.00       | \$2.50             | \$4,442.50       | \$3.35        | \$5,952.95   |
|      |                | APPROX. 60" ALTERNATIVE PIPE CULVERT (STEEL   |           |              |                  |                  |                    |                  |               |              |
| 15   | 610130         | FABRIACTED)                                   | LS        | 1            | \$4,400.00       | \$4,400.00       | \$20,000.00        | \$20,000.00      | \$20,000.00   | \$20,000.00  |
| 16   | 782120         | RELOCATE MAIL BOXES                           | EA        | 8            | \$500.00         | \$4,000.00       | \$443.00           | \$3,544.00       | \$950.00      | \$7,600.00   |
| 17   | 210430         | HYDROSEED                                     | SQFT      | 540          | \$0.18           | \$97.20          | \$0.35             | \$189.00         | \$0.23        | \$124.20     |
|      |                |   |           |              | <b>#2</b> 000 55 | ***********      | 44 222 5           | <b>6.</b> 000 00 | ##00.00       | 0.500.00     |
| 18   | ( <del> </del> | PERMANENT EROSION CONTROL ESTABLISHMENT WORK  | LS        | 1            | \$2,800.00       | \$2,800.00       | \$1,000.00         | \$1,000.00       | \$500.00      | \$500.00     |
| 19   | 721029         | ROCK SLOPE PROTECTION (NO.2, METHOD B)        | TON       | 8            | \$950.00         | \$7,600.00       | \$232.00           | \$1,856.00       | \$250.00      | \$2,000.00   |
|      |                | MINOR CONCRETE (CURB, GUTTER, SIDEWALK AND    | l         |              | #1.050.00        | #100 500 00      | 64 204 22          | #07.590.00       | #1 COC OO     | ¢112.000.00  |
| 20   | 731510         | DRIVEWAY)                                     | CY        | 70           | \$1,850.00       | \$129,500.00     | \$1,394.00         | \$97,580.00      | \$1,600.00    | \$112,000.00 |
| 21   | 710238         | MODIFY DRAINAGE SYSTEM                        | EA        | 1            | \$4,800.00       | \$4,800.00       | \$5,000.00         | \$5,000.00       | \$47,000.00   | \$47,000.00  |
|      | ☆ =            | CORRECTED AMOUNT                              |           | TOTAL:       |                  | ☆ \$422,746.80   |                    | \$378,952.70     |               | \$454,557.75 |

|      |        | BID ADD 2, East Sic                          | le Potter | Valley Road,  | County Road 240 | , Mile Post 4.95 t | to 5.09, Potter Val | ley            |                    |                |
|------|--------|--|-----------|---------------|-----------------|--------------------|---------------------|----------------|--------------------|----------------|
|      |        |  |           |               | Ghilotti Con    | st. Co, Inc.       |                     |                | Granite Const. Co. |                |
|      |        |  |           |               | Santa Ro        | osa, CA            | ENGINEERS           | ESTIMATE       | Ukiah, CA          |                |
|      |        |  |           |               | NO              | .1                 |                     |                | NO                 | . 2            |
| ITEM | ITEM   |  | UNIT      | ESTIMATED     | UNIT            |                    | UNIT                |                | UNIT               |                |
| NO.  | CODE   | ITEM DESCRIPTION                             | CODE      | QUANTITY      | PRICE           | AMOUNT             | PRICE               | AMOUNT         | PRICE              | AMOUNT         |
| 1    | 170103 | CLEARING AND GRUBBING                        | LS        | 1             | \$14,500.00     | \$14,500.00        | \$6,000.00          | \$6,000.00     | \$58,228.00        | \$58,228.00    |
| 2    | 190101 | ROADWAY EXCAVATION                           | CY        | 722           | \$220.00        | \$158,840.00       | \$50.00             | \$36,100.00    | \$90.00            | \$64,980.00    |
| 3    | 260203 | AGGREGATE BASE, CLASS 2                      | CY.       | 1,343         | \$95.00         | \$127,585.00       | \$101.00            | \$135,643.00   | \$70.00            | \$94,010.00    |
| 4    | 390132 | HOT MIX ASPHALT, (TYPE A)                    | TON       | 612           | \$185.00        | \$113,220.00       | \$177.00            | \$108,324.00   | \$180.00           | \$110,160.00   |
| 5    | 846051 | 12" RUMBLE STRIP (ASPHALT CONCRETE PAVEMENT) | STA       | 6             | \$85.00         | \$510.00           | \$80.00             | \$480.00       | \$155.00           | \$930.00       |
| 6    | 840656 | PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)    | LF        | 600           | \$0.70          | \$420.00           | \$0.60              | \$360.00       | \$0.70             | \$420.00       |
| 7    | 840656 | PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)     | LF        | 1,200         | \$0.35          | \$420.00           | \$0.60              | \$720.00       | \$0.35             | \$420.00       |
| 8    | 810230 | PAVEMENT MARKER (RETROREFLECTIVE) (TYPE D)   | EA        | 13            | \$5.00          | \$65.00            | \$6.00              | \$78.00        | \$5.00             | \$65.00        |
| 9    |        | H-10 HUGGER BAND, DOUBLE BAR AND STRAP       | EA        | 2             | \$350.00        | \$700.00           | \$200.00            | \$400.00       | \$1,500.00         | \$3,000.00     |
| 10   | 665039 | 36" CORRUGATED STEEL PIPE (.138" THICK)      | LF        | 23            | \$1,850.00      | \$42,550.00        | \$380.00            | \$8,740.00     | \$225.00           | \$5,175.00     |
| 11   | 192001 | STRUCTURAL EXCAVATION (HEAD WALL)            | CY        | 13            | \$750.00        | \$9,750.00         | \$80.00             | \$1,040.00     | \$95.00            | \$1,235.00     |
| 12   | 193001 | STRUCTURAL BACKFILL (HEAD WALL)              | CY        | 37            | \$550.00        | \$20,350.00        | \$117.00            | \$4,329.00     | \$250.00           | \$9,250.00     |
| 13   | 510092 | STRUCTURAL CONCRETE (HEAD WALL)              | CY        | 10            | \$4,800.00      | \$48,000.00        | \$4,100.00          | \$41,000.00    | \$3,500.00         | \$35,000.00    |
| 14   | 520101 | BAR REINFORCING STEEL (HEAD WALL)            | LB        | 984           | \$3.00          | \$2,952.00         | \$2.50              | \$2,460.00     | \$3.05             | \$3,001.20     |
| 15   | 710130 | REMOVE CULVERT                               | EA        | 1             | \$2,000.00      | \$2,000.00         | \$2,840.00          | \$2,840.00     | \$7,500.00         | \$7,500.00     |
| 16   | 610108 | INSTALL 18" HDPE PIPE CULVERT                | LF        | 158           | \$185.00        | \$29,230.00        | \$187.00            | \$29,546.00    | \$75.00            | \$11,850.00    |
| 17   | 782120 | RELOCATE MAIL BOXES                          | EA        | 1             | \$500.00        | \$500.00           | \$443.00            | \$443.00       | \$950.00           | \$950.00       |
| 18   | 210430 | HYDROSEED                                    | SQFT      | 13,200        | \$0.18          | \$2,376.00         | \$0.35              | \$4,620.00     | \$0.23             | \$3,036.00     |
| 19   | 211111 | PERMANENT EROSION CONTROL ESTABLISHMENT WORK | LS        | 1             | \$5,000.00      | \$5,000.00         | \$8,000.00          | \$8,000.00     | \$500.00           | \$500.00       |
|      | ☆ =    | CORRECTED AMOUNT                             | TOTAL:    |               | \$578,968.00    |                    | \$391,123.00        |                | \$409,710.20       |                |
|      |        | TOTAL BASE BID + BII                         | O ADD 1   | + BID ADD 2 : |                 | \$5,222,735.56     |                     | \$6,867,956.76 |                    | \$5,117,491.79 |

|             |           | BASE BID, East Sid                           | e Potter     | Valley Road,        | County Road 240,          | , Mile Post 5.58 t      | o 6.37, Potter Val | ley                     |  |                         |
|-------------|-----------|--|--------------|---------------------|---------------------------|-------------------------|--------------------|-------------------------|--|-------------------------|
|             |           |  |              | -                   | Team Ghi<br>Petalun<br>NO | na, CA                  | ENGINEERS          | ESTIMATE                | Argonaut Constructors<br>Santa Rosa, CA<br>NO. 4 |                         |
| ITEM<br>NO. | ITEM CODE | ITEM DESCRIPTION                             | UNIT<br>CODE | ESTIMATED QUANTITY  | UNIT<br>PRICE             | AMOUNT                  | UNIT<br>PRICE      | AMOUNT                  | UNIT<br>PRICE                                    | AMOUNT                  |
| 1           | 999990    | MOBILIZATION                                 | LS           | 1                   | \$158,058.70              | \$158,058.70            | \$200,000.00       | \$200,000.00            | \$232,000.00                                     | \$232,000.00            |
| 2           | 100100    | DEVELOP WATER SUPPLY                         | LS           | 1                   | \$25,000.00               | \$25,000.00             | \$16,667.00        | \$16,667.00             | \$1,500.00                                       | \$1,500.00              |
| 3           | 120090    | CONSTRUCTION AREA SIGNS                      | LS           | 1                   | \$3,100.00                | \$3,100.00              | \$146,300.00       | \$146,300.00            | \$2,700.00                                       | \$2,700.00              |
| 4           | 120100    | TRAFFIC CONTROL SYSTEM                       | LS           | 1                   | \$170,350.00              | \$170,350.00            | \$233,000.00       | \$233,000.00            | \$116,000.00                                     | \$116,000.00            |
| 5           | 130200    | PREPARE WATER POLLUTION CONTROL PROGRAM      | LS           | 1                   | \$625.00                  | \$625.00                | \$2,600.00         | \$2,600.00              | \$10,000.00                                      | \$10,000.00             |
| 6           | 170103    | CLEARING AND GRUBBING                        | LS           | 1                   | \$41,616.00               | \$41,616.00             | \$33,000.00        | \$33,000.00             | \$120,000.00                                     | \$120,000.00            |
| 7           | 390132    | HOT MIX ASPHALT, (TYPE A)                    | TON          | 4,400               | \$121.00                  | \$532,400.00            | \$177.00           | \$778,800.00            | \$120.00   | \$528,000.00            |
| 8           | 394073    | PLACE HOT MIX ASPHALT DIKE (TYPE A)          | LF           | 2,750               | \$32.00                   | \$88,000.00             | \$2.20             | \$6,050.00              | \$6.00   | \$16,500.00             |
| 9           | 397005    | TACK COAT (0.08 -0.15 gal/sqyd)              | TON          | 11                  | \$1,613.00                | \$17,743.00             | \$1,500.00         | \$16,500.00             | \$700.00   | \$7,700.00              |
| 10          | 260203    | AGGREGATE BASE, CLASS 2                      | CY           | 9,000               | \$53.00                   | \$477,000.00            | \$101.00           | \$909,000.00            | \$62.00  | \$558,000.00            |
| 11          | 846051    | 12" RUMBLE STRIP (ASPHALT CONCRETE PAVEMENT) | STA          | 43                  | \$170.00                  | \$7,310.00              | \$80.00            | \$3,440.00              | \$175.00   | \$7,525.00              |
| 12          | 840656    | PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)    | LF           | 4,300               | \$0.70                    | \$3,010.00              | \$0.60             | \$2,580.00              | \$0.70   | \$3,010.00              |
| 13          | 840656    | PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)     | LF           | 8,600               | \$0.35                    | \$3,010.00              | \$0.60             | \$5,160.00              | \$0.35   | \$3,010.00              |
| 14(F)       | 192037    | STRUCTURAL EXCAVATION (RETAINING WALL)       | CY           | 1,958               | \$63.00                   | \$123,354.00            | \$80.00            | \$156,640.00            | \$21.00  | \$41,118.00             |
| 15          | 520103    | BAR REINFORCING STEEL (RETAINING WALL)       | LB           | 72,990              | \$2.00                    | \$145,980.00            | \$4.00             | \$291,960.00            | \$1.84   | \$134,301.60            |
| 16(F)       | 510060    | STRUCTURAL CONCRETE (RETAINING WALL)         | CY           | 534                 | \$1,073.00                | \$572,982.00            | \$862.00           | \$460,308.00            | \$981.50   | \$524,121.00            |
| 17(F)       | 193013    | STRUCTURAL BACKFILL (RETAINING WALL)         | CY           | 1,510               | \$54.15                   | \$81,766.50             | \$117.00           | \$176,670.00            | \$72.00  | \$108,720.00            |
| 18          | 839736    | CONCRETE BARRIER (TYPE 742A)                 | LF           | 402                 | \$451.00                  | \$181,302.00            | \$200.00           | \$80,400.00             | \$380.50   | \$152,961.00            |
| 19(F)       | 510092    | STRUCTURAL CONCRETE (HEAD WALL)              | CY           | 58                  | \$2,050.00                | \$118,900.00            | \$4,100.00         | \$237,800.00            | \$1,916.00                                       | \$111,128.00            |
| 20          | 520101    | BAR REINFORCING STEEL (HEAD WALL)            | LB           | 6,000               | \$2.00                    | \$12,000.00             | \$2.50             | \$15,000.00             | \$2.00   | \$12,000.00             |
| 21          | 803020    | REMOVE FENCE                                 | LF           | 5,665               | \$2.89                    | \$16,371.85             | \$6.00             | \$33,990.00             | \$5.25   | \$29,741.25             |
| 22          | 803100    | RECONSTRUCT FENCE                            | LF           | 5,665               | \$33.15                   | \$187,794.75            | \$46.00            | \$260,590.00            | \$34.00  | \$192,610.00            |
| 23          | 710130    | REMOVE CULVERT                               | EA           | 12                  | \$4,000.00                | \$48,000.00             | \$2,840.00         | \$34,080.00             | \$800.00   | \$9,600.00              |
| 24          | 610108    | INSTALL 18" HDPE PIPE CULVERT                | LF           | 446                 | \$163.00                  | \$72,698.00             | \$187.00           | \$83,402.00             | \$125.00   | \$55,750.00             |
| 25          | 610112    | INSTALL 24" HDPE PIPE CULVERT                | LF           | 142                 | \$270.00                  | \$38,340.00             | \$554.00           | \$78,668.00             | \$225.00   | \$31,950.00             |
| 26          | 610125    | INSTALL 42" HDPE PIPE CULVERT                | LF           | 121                 | \$320.00                  | \$38,720.00             | \$604.00           | \$73,084.00             | \$625.00   | \$75,625.00             |
| 27          | 610128    | INSTALL 48" HDPE PIPE CULVERT                | LF           | 52                  | \$1,815.00                | \$94,380.00             | \$372.00           | \$19,344.00             | \$2,150.00                                       | \$111,800.00            |
| 28          | 782120    | RELOCATE MAIL BOXES                          | EA           | 13                  | \$1,285.00                | \$16,705.00             | \$443.00           | \$5,759.00              | \$500.00   | \$6,500.00              |
| 29          | 190101    | ROADWAY EXCAVATION                           | CY           | 27,687              | \$30.00                   | \$830,610.00            | \$50.00            | \$1,384,350.00          | \$35.00  | \$969,045.00            |
| 30          | 730045    | MINOR CONCRETE GUTTER (VALLEY GUTTER)        | CY           | 35                  | \$1,728.00                | \$60,480.00             | \$850.00           | \$29,750.00             | \$732.00   | \$25,620.00             |
| 31          | 520101    | BAR REINFORCING STEEL (VALLEY GUTTER)        | LB           | 1,974               | \$2.10                    | \$4,145.40              | \$3.00             | \$5,922.00              | \$2.00   | \$3,948.00              |
| 32          | 210430    | HYDROSEED                                    | SQFT         | 69,700              | \$0.24                    | \$16,728.00             | \$0.35             | \$24,395.00             | \$0.18   | \$12,546.00             |
| 33 -        | 211111    | PERMANENT EROSION CONTROL ESTABLISHMENT WORK | LS           | 1                   | \$35,000.00               | \$35,000.00             | \$100,000.00       | \$100,000.00            | \$18,000.00                                      | \$18,000.00             |
| 34          | 810230    | PAVEMENT MARKER (RETROREFLECTIVE) (TYPE D)   | EA           | 360                 | \$5.00                    | \$1,800.00              | \$6.00             | \$2,160.00              | \$5.00   | \$1,800.00              |
| 35          | 810230    | PAVEMENT MARKER (RETROREFLECTIVE) (TYPE H)   | EA           | 36                  | \$5.00                    | \$180.00                | \$6.00             | \$216.00                | \$5.00   | \$180.00                |
| 36          |           | PROPERTY OWNERS IMPROVEMENTS                 | LS           | 1                   | \$78,111.00               | \$78,111.00             | \$2,000.00         | \$2,000.00              | \$100,000.00                                     | \$100,000.00            |
| 37          | 600029    | REMOVE ASPHALT CONCRETE SURFACING            | SQFT         | 30,518              | \$1.10                    | \$33,569.80             | \$6.17             | \$188,296.06            | \$1.30   | \$39,673.40             |
|             | ☆ =       | CORRECTED AMOUNT                             |              | TOTAL:<br>DBE GOAL: | ` .                       | \$4,337,141.00<br>0.00% |                    | \$6,097,881.06<br>0.00% | -  | \$4,374,683.25<br>0.00% |
|             |           |  |              | DDE GUAL.           |                           | U.UU/0                  |                    | 0.0070                  |  | ,/o                     |

|             |              | BID ADD 1, East Sid  | le Potter    | Valley Road,          | County Road 240           | Mile Post 6.37 t      | to 6.58, Potter Val | ley          |  |              |
|-------------|--------------|--|--------------|-----------------------|---------------------------|-----------------------|---------------------|--------------|--|--------------|
|             |              | -,   |              |                       | Team Ghi<br>Petalun<br>NO | lotti, Inc.<br>na, CA | ENGINEERS           |              | Argonaut Constructors<br>Santa Rosa, CA<br>NO. 4 |              |
| ITEM<br>NO. | ITEM<br>CODE | ITEM DESCRIPTION   | UNIT<br>CODE | ESTIMATED<br>QUANTITY | UNIT<br>PRICE             | AMOUNT                | UNIT<br>PRICE       | AMOUNT       | UNIT<br>PRICE                                    | AMOUNT       |
| 1           | 170103       | CLEARING AND GRUBBING                                      | LS           | 1                     | \$79,000.00               | \$79,000.00           | \$6,000.00          | \$6,000.00   | \$35,000.00                                      | \$35,000.00  |
| 2           | 390132       | HOT MIX ASPHALT, (TYPE A) 3" OVERLAY                       | TON          | 676                   | \$180.00                  | \$121,680.00          | \$177.00            | \$119,652.00 | \$150.00   | \$101,400.00 |
| 3           | 397005       | TACK COAT (0.08 -0.15 gal/sqyd)                            | TON          | 2                     | \$2,300.00                | \$4,600.00            | \$1,500.00          | \$3,000.00   | \$700.00   | \$1,400.00   |
| 4           | 846051       | 12" RUMBLE STRIP (ASPHALT CONCRETE PAVEMENT)               | STA          | 10                    | \$373.00                  | \$3,730.00            | \$80.00             | \$800.00     | \$175.00   | \$1,750.00   |
| 5           | 840656       | PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)                  | LF           | 1,004                 | \$0.70                    | \$702.80              | \$0.60              | \$602.40     | \$0.70   | \$702.80     |
| 6           | 840656       | PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)                   | LF           | 2,008                 | \$0.35                    | \$702.80              | \$0.60              | \$1,204.80   | \$0.35   | \$702.80     |
| 7           | 840666       | PAINT PAVEMENT MARKINGS (2 COATS)                          | SQFT         | 75                    | \$22.00                   | \$1,650.00            | \$26.00             | \$1,950.00   | \$22.00  | \$1,650.00   |
| 8           | 810230       | PAVEMENT MARKER (RETROREFLECTIVE) (TYPE D)                 | EA           | 21                    | \$5.00                    | \$105.00              | \$6.00              | \$126.00     | \$5.00   | \$105.00     |
| 9           | 192001       | STRUCTURAL EXCAVATION (PIPE EXTENSION)                     | CY           | 142                   | \$145.00                  | \$20,590.00           | \$80.00             | \$11,360.00  | \$75.00  | \$10,650.00  |
| 10          | 520101       | BAR REINFORCING STEEL (PIPE EXTENSION COLLAR)              | LB           | 400                   | \$2.20                    | \$880.00              | \$4.00              | \$1,600.00   | \$2.00   | \$800.00     |
| 11          | 510050       | STRUCTURAL CONCRETE (PIPE EXTENSION COLLAR)                | CY           | 2                     | \$4,500.00                | \$9,000.00            | \$862.00            | \$1,724.00   | \$4,000.00                                       | \$8,000.00   |
| 12          | 193001       | STRUCTURAL BACKFILL (PIPE EXTENSION)                       | CY           | 166                   | \$123.00                  | \$20,418.00           | \$117.00            | \$19,422.00  | \$80.00  | \$13,280.00  |
| 13          | 510092       | STRUCTURAL CONCRETE (HEAD WALL)                            | CY           | 19                    | \$2,850.00                | \$54,150.00           | \$4,100.00          | \$77,900.00  | \$2,500.00                                       | \$47,500.00  |
| 14          | 520101       | BAR REINFORCING STEEL (HEAD WALL)                          | LB           | 1,777                 | \$2.20                    | \$3,909.40            | \$2.50              | \$4,442.50   | \$2.00   | \$3,554.00   |
| 15          | 610130       | APPROX. 60" ALTERNATIVE PIPE CULVERT (STEEL<br>FABRIACTED) | LS           | 1                     | \$53,100.00               | \$53,100.00           | \$20,000.00         | \$20,000.00  | \$95,000.00                                      | \$95,000.00  |
| 16          | 782120       | RELOCATE MAIL BOXES  | EA           | 8                     | \$1,350.00                | \$10,800.00           | \$443.00            | \$3,544.00   | \$450.00   | \$3,600.00   |
| 17          | 210430       | HYDROSEED  | SQFT         | 540                   | \$0,24                    | \$129.60              | \$0.35              | \$189.00     | \$0.20   | \$108.00     |
|             |              |  |              | 1                     | #24 000 00                | £24.000.00            |                     | £1,000,00    | ¢19 000 00                                       | \$18,000.00  |
|             |              | PERMANENT EROSION CONTROL ESTABLISHMENT WORK               | LS           | 1                     | \$24,000.00               | \$24,000.00           | \$1,000.00          | \$1,000.00   | \$18,000.00                                      |              |
| 19          | 721029       | ROCK SLOPE PROTECTION (NO.2, METHOD B)                     | TON          | 8                     | \$900.00                  | \$7,200.00            | \$232.00            | \$1,856.00   | \$450.00   | \$3,600.00   |
|             |              | MINOR CONCRETE (CURB, GUTTER, SIDEWALK AND                 | CV.          | 70                    | Ø1 (20 00                 | \$112.400.00          | 61 204 00           | ¢07.590.00   | ¢1 400 00  | 400 000 00   |
| 20          | 731510       | DRIVEWAY)  | CY<br>EA     | 70                    | \$1,620.00                | \$113,400.00          | \$1,394.00          | \$97,580.00  | \$1,400.00                                       | \$98,000.00  |
| 21          | 710238       | MODIFY DRAINAGE SYSTEM                                     | 1            | \$68,077.00           | \$68,077.00               | \$5,000.00            | \$5,000.00          | \$65,000.00  | \$65,000.00                                      |              |
|             | <u> </u>     | CORRECTED AMOUNT   | TOTAL:       |                       | \$597,824.60              |                       | \$378,952.70        |              | \$509,802.60                                     |              |

|             | <u></u>                                  | BID ADD 2, East Sic                          | e Potter     | Valley Road,          | County Road 240 | , Mile Post 4.95             | to 5.09, Potter Val | lley           |  |                |
|-------------|--|--|--------------|-----------------------|-----------------|------------------------------|---------------------|----------------|--|----------------|
|             |  |  |              |                       |                 | lotti, Inc.<br>1a, CA<br>. 3 | ENGINEERS ESTIMATE  |                | Argonaut Constructors<br>Santa Rosa, CA<br>NO. 4 |                |
| ITEM<br>NO. | ITEM<br>CODE                             | ITEM DESCRIPTION                             | UNIT<br>CODE | ESTIMATED<br>QUANTITY | UNIT<br>PRICE   | AMOUNT                       | UNIT<br>PRICE       | AMOUNT         | UNIT<br>PRICE                                    | AMOUNT         |
| 1           | 170103                                   | CLEARING AND GRUBBING                        | LS           | 1                     | \$15,750.00     | \$15,750.00                  | \$6,000.00          | \$6,000.00     | \$110,000.00                                     | \$110,000.00   |
| 2           | 190101                                   | ROADWAY EXCAVATION                           | CY           | 722                   | \$175.00        | \$126,350.00                 | \$50.00             | \$36,100.00    | \$55.00  | \$39,710.00    |
| 3           | 260203                                   | AGGREGATE BASE, CLASS 2                      | CY           | 1,343                 | \$75.00         | \$100,725.00                 | \$101.00            | \$135,643.00   | \$130.00   | \$174,590.00   |
| 4           | 390132                                   | HOT MIX ASPHALT, (TYPE A)                    | TON          | 612                   | \$195.00        | \$119,340.00                 | \$177.00            | \$108,324.00   | \$150.00   | \$91,800.00    |
| 5           | 846051                                   | 12" RUMBLE STRIP (ASPHALT CONCRETE PAVEMENT) | STA          | 6                     | \$677.00        | \$4,062.00                   | \$80.00             | \$480.00       | \$250.00   | \$1,500.00     |
| 6           | 840656                                   | PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)    | LF           | 600                   | \$0.70          | \$420.00                     | \$0.60              | \$360.00       | \$0.70   | \$420.00       |
| 7           | 840656                                   | PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)     | LF           | 1,200                 | \$0.35          | \$420.00                     | \$0.60              | \$720.00       | \$0.35   | \$420.00       |
| 8           | 810230                                   | PAVEMENT MARKER (RETROREFLECTIVE) (TYPE D)   | EA           | 13                    | \$5.00          | \$65.00                      | \$6.00              | \$78.00        | \$5.00   | \$65.00        |
| 9           |  | H-10 HUGGER BAND, DOUBLE BAR AND STRAP       | EA           | 2                     | \$357.00        | \$714.00                     | \$200.00            | \$400.00       | \$2,000.00                                       | \$4,000.00     |
| 10          | 665039                                   | 36" CORRUGATED STEEL PIPE (.138" THICK)      | LF           | 23                    | \$790.00        | \$18,170.00                  | \$380.00            | \$8,740.00     | \$700.00   | \$16,100.00    |
| 11          | 192001                                   | STRUCTURAL EXCAVATION (HEAD WALL)            | CY           | 13                    | \$750.00        | \$9,750.00                   | \$80.00             | \$1,040.00     | \$21.00  | \$273.00       |
| 12          | 193001                                   | STRUCTURAL BACKFILL (HEAD WALL)              | CY           | 37                    | \$277.00        | \$10,249.00                  | \$117.00            | \$4,329.00     | \$75.00  | \$2,775.00     |
| 13          | 510092                                   | STRUCTURAL CONCRETE (HEAD WALL)              | CY           | 10                    | \$3,000.00      | \$30,000.00                  | \$4,100.00          | \$41,000.00    | \$3,000.00                                       | \$30,000.00    |
| 14          | 520101                                   | BAR REINFORCING STEEL (HEAD WALL)            | LB           | 984                   | \$2.20          | \$2,164.80                   | \$2.50              | \$2,460.00     | \$2.00   | \$1,968.00     |
| 15          | 710130                                   | REMOVE CULVERT                               | EA           | 1                     | \$5,085.00      | \$5,085.00                   | \$2,840.00          | \$2,840.00     | \$150.00   | \$150.00       |
| 16          | 610108                                   | INSTALL 18" HDPE PIPE CULVERT                | LF           | 158                   | \$230.00        | \$36,340.00                  | \$187.00            | \$29,546.00    | \$170.00   | \$26,860.00    |
| 17          | 782120                                   | RELOCATE MAIL BOXES                          | EA.          | 1                     | \$26,000.00     | \$26,000.00                  | \$443.00            | \$443.00       | \$475.00   | \$475.00       |
| 18          | 210430                                   | HYDROSEED                                    | SQFT         | 13,200                | \$0.24          | \$3,168.00                   | \$0.35              | \$4,620.00     | \$0.20   | \$2,640.00     |
| 19          | 211111                                   | PERMANENT EROSION CONTROL ESTABLISHMENT WORK | LS           | 1                     | \$24,000.00     | \$24,000.00                  | \$8,000.00          | \$8,000.00     | \$18,000.00                                      | \$18,000.00    |
|             | ☆ = 0                                    | CORRECTED AMOUNT                             | TOTAL:       |                       | \$532,772.80    |                              | \$391,123.00        |                | \$521,746.00                                     |                |
|             | TOTAL BASE BID + BID ADD 1 + BID ADD 2 : |  |              |                       |                 | \$5,467,738.40               |                     | \$6,867,956.76 |  | \$5,406,231.85 |

|             |              | BASE BID, East Sid                           | e Potter     | Valley Road,       | County Road 240,             | Mile Post 5.58 t | o 6.37, Potter Val | ley            |               |        |  |
|-------------|--------------|--|--------------|--------------------|------------------------------|------------------|--------------------|----------------|---------------|--------|--|
|             |              |  |              |                    | Rege Constr<br>Cloverd<br>NO | ale, CA          | ENGINEERS          | ESTIMATE       | NO            | NO. 6  |  |
| ITEM<br>NO. | ITEM<br>CODE | ITEM DESCRIPTION                             | UNIT<br>CODE | ESTIMATED QUANTITY | UNIT<br>PRICE                | AMOUNT           | UNIT<br>PRICE      | AMOUNT         | UNIT<br>PRICE | AMOUNT |  |
| 1           | 999990       | MOBILIZATION                                 | LS           | 1                  | \$306,474.00                 | \$306,474.00     | \$200,000.00       | \$200,000.00   | \$0.00        | \$0.00 |  |
| 2           | 100100       | DEVELOP WATER SUPPLY                         | LS           | .1                 | \$40,688.00                  | \$40,688.00      | \$16,667.00        | \$16,667.00    | \$0.00        | \$0.00 |  |
| 3           | 120090       | CONSTRUCTION AREA SIGNS                      | LS           | 1                  | \$5,558.00                   | \$5,558.00       | \$146,300.00       | \$146,300.00   | \$0.00        | \$0.00 |  |
| 4           | 120100       | TRAFFIC CONTROL SYSTEM                       | LS           | 1                  | \$441,785.00                 | \$441,785.00     | \$233,000.00       | \$233,000.00   | \$0.00        | \$0.00 |  |
| 5           | 130200       | PREPARE WATER POLLUTION CONTROL PROGRAM      | LS           | 1                  | \$16,573.00                  | \$16,573.00      | \$2,600.00         | \$2,600.00     | \$0.00        | \$0.00 |  |
| 6           | 170103       | CLEARING AND GRUBBING                        | LS           | 1                  | \$73,047.00                  | \$73,047.00      | \$33,000.00        | \$33,000.00    | \$0.00        | \$0.00 |  |
| 7           | 390132       | HOT MIX ASPHALT, (TYPE A)                    | TON          | 4,400              | \$142.00                     | \$624,800.00     | \$177.00           | \$778,800.00   | \$0.00        | \$0.00 |  |
| 8           | 394073       | PLACE HOT MIX ASPHALT DIKE (TYPE A)          | LF           | 2,750              | \$11.00                      | \$30,250.00      | \$2.20             | \$6,050.00     | \$0.00        | \$0.00 |  |
| 9           | 397005       | TACK COAT (0.08 -0.15 gal/sqyd)              | TON          | 11                 | \$1,164.00                   | \$12,804.00      | \$1,500.00         | \$16,500.00    | \$0.00        | \$0.00 |  |
| 10          | 260203       | AGGREGATE BASE, CLASS 2                      | CY           | 9,000              | \$72.00                      | \$648,000.00     | \$101.00           | \$909,000.00   | \$0.00        | \$0.00 |  |
| 11          | 846051       | 12" RUMBLE STRIP (ASPHALT CONCRETE PAVEMENT) | STA          | 43                 | \$114.00                     | \$4,902.00       | \$80.00            | \$3,440.00     | \$0.00        | \$0.00 |  |
| 12          | 840656       | PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)    | LF           | 4,300              | \$1.00                       | \$4,300.00       | \$0.60             | \$2,580.00     | \$0.00        | \$0.00 |  |
| 13          | 840656       | PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)     | LF           | 8,600              | \$1.00                       | \$8,600.00       | \$0.60             | \$5,160.00     | \$0.00        | \$0.00 |  |
| 14(F)       | 192037       | STRUCTURAL EXCAVATION (RETAINING WALL)       | CY           | 1,958              | \$20.00                      | \$39,160.00      | \$80.00            | \$156,640.00   | \$0.00        | \$0.00 |  |
| 15          | 520103       | BAR REINFORCING STEEL (RETAINING WALL)       | LB           | 72,990             | \$2.00                       | \$145,980.00     | \$4.00             | \$291,960.00   | \$0.00        | \$0.00 |  |
| 16(F)       | 510060       | STRUCTURAL CONCRETE (RETAINING WALL)         | CY           | 534                | \$1,088.00                   | \$580,992.00     | \$862.00           | \$460,308.00   | \$0.00        | \$0.00 |  |
| 17(F)       | 193013       | STRUCTURAL BACKFILL (RETAINING WALL)         | CY           | 1,510              | \$18.00                      | \$27,180.00      | \$117.00           | \$176,670.00   | \$0.00        | \$0.00 |  |
| 18          | 839736       | CONCRETE BARRIER (TYPE 742A)                 | LF           | 402                | \$425.00                     | \$170,850.00     | \$200.00           | \$80,400.00    | \$0.00        | \$0.00 |  |
| 19(F)       | 510092       | STRUCTURAL CONCRETE (HEAD WALL)              | CY           | 58                 | \$2,741.00                   | \$158,978.00     | \$4,100.00         | \$237,800.00   | \$0.00        | \$0.00 |  |
| 20          | 520101       | BAR REINFORCING STEEL (HEAD WALL)            | LB           | 6,000              | \$2.00                       | \$12,000.00      | \$2.50             | \$15,000.00    | \$0.00        | \$0.00 |  |
| 21          | 803020       | REMOVE FENCE                                 | LF           | 5,665              | \$2.00                       | \$11,330.00      | \$6.00             | \$33,990.00    | \$0.00        | \$0.00 |  |
| 22          | 803100       | RECONSTRUCT FENCE                            | LF           | 5,665              | \$36.00                      | \$203,940.00     | \$46.00            | \$260,590.00   | \$0.00        | \$0.00 |  |
| 23          | 710130       | REMOVE CULVERT                               | EA           | 12                 | \$1,053.00                   | \$12,636.00      | \$2,840.00         | \$34,080.00    | \$0.00        | \$0.00 |  |
| 24          | 610108       | INSTALL 18" HDPE PIPE CULVERT                | LF           | 446                | \$177.00                     | \$78,942.00      | \$187.00           | \$83,402.00    | \$0.00        | \$0.00 |  |
| 25          | 610112       | INSTALL 24" HDPE PIPE CULVERT                | LF           | 142                | \$249.00                     | \$35,358.00      | \$554.00           | \$78,668.00    | \$0.00        | \$0.00 |  |
| 26          | 610125       | INSTALL 42" HDPE PIPE CULVERT                | LF           | 121                | \$312.00                     | \$37,752.00      | \$604.00           | \$73,084.00    | \$0.00        | \$0.00 |  |
| 27          | 610128       | INSTALL 48" HDPE PIPE CULVERT                | LF           | 52                 | \$715.00                     | \$37,180.00      | \$372.00           | \$19,344.00    | \$0.00        | \$0.00 |  |
| 28          | 782120       | RELOCATE MAIL BOXES                          | EA .         | 13                 | \$900.00                     | \$11,700.00      | \$443.00           | \$5,759.00     | \$0.00        | \$0.00 |  |
| 29          | 190101       | ROADWAY EXCAVATION                           | CY           | 27,687             | \$19.00                      | \$526,053.00     | \$50.00            | \$1,384,350.00 | \$0.00        | \$0.00 |  |
| 30          | 730045       | MINOR CONCRETE GUTTER (VALLEY GUTTER)        | CY           | 35                 | \$1,181.00                   | \$41,335.00      | \$850.00           | \$29,750.00    | \$0.00        | \$0.00 |  |
| 31          | 520101       | BAR REINFORCING STEEL (VALLEY GUTTER)        | LB           | 1,974              | \$2.00                       | \$3,948.00       | \$3.00             | \$5,922.00     | \$0.00        | \$0.00 |  |
| 32          | 210430       | HYDROSEED                                    | SQFT         | 69,700             | \$0.17                       | \$12,016.28      | \$0.35             | \$24,395.00    | \$0.00        | \$0.00 |  |
| 33          | 211111       | PERMANENT EROSION CONTROL ESTABLISHMENT WORK | LS           | 1                  | \$17,886.00                  | \$17,886.00      | \$100,000.00       | \$100,000.00   | \$0.00        | \$0.00 |  |
|             | 810230       | PAVEMENT MARKER (RETROREFLECTIVE) (TYPE D)   | EA           | 360                | \$6.00                       | \$2,160.00       | \$6.00             | \$2,160.00     | \$0.00        | \$0.00 |  |
|             | 810230       | PAVEMENT MARKER (RETROREFLECTIVE) (TYPE H)   | EA           | 36                 | \$6.00                       | \$216.00         | \$6.00             | \$216.00       | \$0.00        | \$0.00 |  |
| 36          |              | PROPERTY OWNERS IMPROVEMENTS                 | LS           | 1                  | \$59,214.00                  | \$59,214.00      | \$2,000.00         | \$2,000.00     | \$0.00        | \$0.00 |  |
|             | 600029       | REMOVE ASPHALT CONCRETE SURFACING            | SQFT         | 30,518             | \$1.00                       | \$30,518.00      | \$6.17             | \$188,296.06   | \$0.00        | \$0.00 |  |
|             |              | CORRECTED AMOUNT                             |              | TOTAL:             |                              | \$4,475,105.28   | ·                  | \$6,097,881.06 |               | \$0.00 |  |
|             | ,, ,         |  |              | DBE GOAL:          | (                            | 0.00%            | -                  | 0.00%          | 1             | 0.00%  |  |

|             | ······································ | BID ADD 1, East Sid                           | le Potter    | Valley Road,       | County Road 240              | , Mile Post 6.37 | to 6.58, Potter Va | lley         |               |        |
|-------------|--|---|--------------|--------------------|------------------------------|------------------|--------------------|--------------|---------------|--------|
|             |  |   |              |                    | Rege Constr<br>Cloverd<br>NO | ale, CA          | ENGINEERS ESTIMATE |              | NO. 6         |        |
| ITEM<br>NO. | ITEM<br>CODE                           | ITEM DESCRIPTION                              | UNIT<br>CODE | ESTIMATED QUANTITY | UNIT<br>PRICE                | AMOUNT           | UNIT<br>PRICE      | AMOUNT       | UNIT<br>PRICE | AMOUNT |
| 1           | 170103                                 | CLEARING AND GRUBBING                         | LS           | 1                  | \$102,467.00                 | \$102,467.00     | \$6,000.00         | \$6,000.00   | \$0.00        | \$0.00 |
| 2           | 390132                                 | HOT MIX ASPHALT, (TYPE A) 3" OVERLAY          | TON          | 676                | \$149.00                     | \$100,724.00     | \$177.00           | \$119,652.00 | \$0.00        | \$0.00 |
| -3          | 397005                                 | TACK COAT (0.08 -0.15 gal/sqyd)               | TON          | 2                  | \$1,594.00                   | \$3,188.00       | \$1,500.00         | \$3,000.00   | \$0.00        | \$0.00 |
| 4           | 846051                                 | 12" RUMBLE STRIP (ASPHALT CONCRETE PAVEMENT)  | STA          | 10                 | \$91.00                      | \$910.00         | \$80.00            | \$800.00     | \$0.00        | \$0.00 |
| 5           | 840656                                 | PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)     | LF           | 1,004              | \$1.00                       | \$1,004.00       | \$0.60             | \$602.40     | \$0.00        | \$0.00 |
| 6           | 840656                                 | PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)      | LF           | 2,008              | \$0.37                       | \$752.60         | \$0.60             | \$1,204.80   | \$0.00        | \$0.00 |
| 7           | 840666                                 | PAINT PAVEMENT MARKINGS (2 COATS)             | SQFT         | 75                 | \$24.00                      | \$1,800.00       | \$26.00            | \$1,950.00   | \$0.00        | \$0.00 |
| 8           | 810230                                 | PAVEMENT MARKER (RETROREFLECTIVE) (TYPE D)    | EA           | 21                 | \$5.00                       | \$105.00         | \$6.00             | \$126.00     | \$0.00        | \$0.00 |
| 9           | 192001                                 | STRUCTURAL EXCAVATION (PIPE EXTENSION)        | CY           | 142                | \$33.00                      | \$4,686.00       | \$80.00            | \$11,360.00  | \$0.00        | \$0.00 |
| 10          | 520101                                 | BAR REINFORCING STEEL (PIPE EXTENSION COLLAR) | LB           | 400                | \$2.00                       | \$800.00         | \$4.00             | \$1,600.00   | \$0.00        | \$0.00 |
| 11          | 510050                                 | STRUCTURAL CONCRETE (PIPE EXTENSION COLLAR)   | CY           | 2                  | \$5,450.00                   | \$10,900.00      | \$862.00           | \$1,724.00   | \$0.00        | \$0.00 |
| 12          | 193001                                 | STRUCTURAL BACKFILL (PIPE EXTENSION)          | CY           | 166                | \$52.00                      | \$8,632.00       | \$117.00           | \$19,422.00  | \$0.00        | \$0.00 |
| 13          | 510092                                 | STRUCTURAL CONCRETE (HEAD WALL)               | CY           | 19                 | \$2,502.00                   | \$47,538.00      | \$4,100.00         | \$77,900.00  | \$0.00        | \$0.00 |
| 14          | 520101                                 | BAR REINFORCING STEEL (HEAD WALL)             | LB           | 1,777              | \$2.00                       | \$3,554.00       | \$2.50             | \$4,442.50   | \$0.00        | \$0.00 |
|             |  | APPROX. 60" ALTERNATIVE PIPE CULVERT (STEEL   |              |                    |                              |                  |                    |              |               |        |
| 15          | 610130                                 | FABRIACTED)                                   | LS           | 1                  | \$13,321.00                  | \$13,321.00      | \$20,000.00        | \$20,000.00  | \$0.00        | \$0.00 |
| 16          | 782120                                 | RELOCATE MAIL BOXES                           | EA           | 8                  | \$478.00                     | \$3,824.00       | \$443.00           | \$3,544.00   | \$0.00        | \$0.00 |
| 17          | 210430                                 | HYDROSEED                                     | SQFT         | 540                | \$4.00                       | \$2,160.00       | \$0.35             | \$189.00     | \$0.00        | \$0.00 |
| 18          | 211111                                 | PERMANENT EROSION CONTROL ESTABLISHMENT WORK  | LS           | 1                  | \$21,942.00                  | \$21,942.00      | \$1,000.00         | \$1,000.00   | \$0.00        | \$0.00 |
| 19          | 721029                                 | ROCK SLOPE PROTECTION (NO.2, METHOD B)        | TON          | 8                  | \$279.00                     | \$2,232.00       | \$232.00           | \$1,856.00   | \$0.00        | \$0.00 |
|             |  | MINOR CONCRETE (CURB, GUTTER, SIDEWALK AND    |              |                    |                              |                  |                    |              |               |        |
| 20          | 731510                                 | DRIVEWAY)                                     | CY           | 70                 | \$1,087.00                   | \$76,090.00      | \$1,394.00         | \$97,580.00  | \$0.00        | \$0.00 |
| 21          | 710238                                 | MODIFY DRAINAGE SYSTEM                        | EA           | 1                  | \$40,610.00                  | \$40,610.00      | \$5,000.00         | \$5,000.00   | \$0.00        | \$0.00 |
|             | ☆ = 0                                  | CORRECTED AMOUNT                              |              | TOTAL:             | •                            | \$447,239.60     |                    | \$378,952.70 |               | \$0.00 |

|             |              | BID ADD 2, East Sic                          | le Potter    | Valley Road,                 | County Road 240 | , Mile Post 4.95 | to 5.09, Potter Val | lley           |               |        |
|-------------|--------------|--|--------------|------------------------------|-----------------|------------------|---------------------|----------------|---------------|--------|
|             |              |  |              | Rege Constr<br>Cloverd<br>NO | ale, CA         | ENGINEERS        | ESTIMATE            | NO             | . 6           |        |
| ITEM<br>NO. | ITEM<br>CODE | ITEM DESCRIPTION                             | UNIT<br>CODE | ESTIMATED QUANTITY           | UNIT<br>PRICE   | AMOUNT           | UNIT<br>PRICE       | AMOUNT         | UNIT<br>PRICE | AMOUNT |
| 1           | 170103       | CLEARING AND GRUBBING                        | LS           | 1                            | \$29,791.00     | \$29,791.00      | \$6,000.00          | \$6,000.00     | \$0.00        | \$0.00 |
| 2           | 190101       | ROADWAY EXCAVATION                           | CY           | 722                          | \$138.00        | \$99,636.00      | \$50.00             | \$36,100.00    | \$0.00        | \$0.00 |
| 3           | 260203       | AGGREGATE BASE, CLASS 2                      | CY           | 1,343                        | \$79.00         | \$106,097.00     | \$101.00            | \$135,643.00   | \$0.00        | \$0.00 |
| 4           | 390132       | HOT MIX ASPHALT, (TYPE A)                    | TON          | 612                          | \$147.00        | \$89,964.00      | \$177.00            | \$108,324.00   | \$0.00        | \$0.00 |
| 5           | 846051       | 12" RUMBLE STRIP (ASPHALT CONCRETE PAVEMENT) | STA          | 6                            | \$93.00         | \$558.00         | \$80.00             | \$480.00       | \$0.00        | \$0.00 |
| 6           | 840656       | PAINT TRAFFIC STRIPE, YELLOW 4" (2 COATS)    | LF           | 600                          | \$1.00          | \$600.00         | \$0.60              | \$360.00       | \$0.00        | \$0.00 |
| 7           | 840656       | PAINT TRAFFIC STRIPE, WHITE 4" (2 COATS)     | LF           | 1,200                        | \$0.38          | \$458.64         | \$0.60              | \$720.00       | \$0.00        | \$0.00 |
| 8           | 810230       | PAVEMENT MARKER (RETROREFLECTIVE) (TYPE D)   | EA           | 13                           | \$5.00          | \$65.00          | \$6.00              | \$78.00        | \$0.00        | \$0.00 |
| 9           |              | H-10 HUGGER BAND, DOUBLE BAR AND STRAP       | EA           | 2                            | \$1,272.00      | \$2,544.00       | \$200.00            | \$400.00       | \$0.00        | \$0.00 |
| 10          | 665039       | 36" CORRUGATED STEEL PIPE (.138" THICK)      | LF           | 23                           | \$420.00        | \$9,660.00       | \$380.00            | \$8,740.00     | \$0.00        | \$0.00 |
| 11          | 192001       | STRUCTURAL EXCAVATION (HEAD WALL)            | CY           | 13                           | \$82.00         | \$1,066.00       | \$80.00             | \$1,040.00     | \$0.00        | \$0.00 |
| 12          | 193001       | STRUCTURAL BACKFILL (HEAD WALL)              | CY           | 37                           | \$134.00        | \$4,958.00       | \$117.00            | \$4,329.00     | \$0.00        | \$0.00 |
| 13          | 510092       | STRUCTURAL CONCRETE (HEAD WALL)              | CY           | 10                           | \$2,749.00      | \$27,490.00      | \$4,100.00          | \$41,000.00    | \$0.00        | \$0.00 |
| 14          | 520101       | BAR REINFORCING STEEL (HEAD WALL)            | LB           | 984                          | \$2.00          | \$1,968.00       | \$2.50              | \$2,460.00     | \$0.00        | \$0.00 |
| 15          | 710130       | REMOVE CULVERT                               | EA           | 1                            | \$610.00        | \$610.00         | \$2,840.00          | \$2,840.00     | \$0.00        | \$0.00 |
| 16          | 610108       | INSTALL 18" HDPE PIPE CULVERT                | LF           | 158                          | \$115.00        | \$18,170.00      | \$187.00            | \$29,546.00    | \$0.00        | \$0.00 |
| 17          | 782120       | RELOCATE MAIL BOXES                          | EA           | 1                            | \$1,887.00      | \$1,887.00       | \$443.00            | \$443.00       | \$0.00        | \$0.00 |
| 18          | 210430       | HYDROSEED                                    | SQFT         | 13,200                       | \$0.24          | \$3,125.76       | \$0.35              | \$4,620.00     | \$0.00        | \$0.00 |
| 19          |              | PERMANENT EROSION CONTROL ESTABLISHMENT WORK | LS           | 1                            | \$23,831.00     | \$23,831.00      | \$8,000.00          | \$8,000.00     | \$0.00        | \$0.00 |
| <u> </u>    | ☆ =          | CORRECTED AMOUNT                             | TOTAL:       |                              | \$422,479.40    |                  | \$391,123.00        |                | \$0.00        |        |
|             |              | TOTAL BASE BID + BII                         | DADD 1       | + BID ADD 2 :                |                 | \$5,344,824.28   |                     | \$6,867,956.76 |               | \$0.00 |